Multiplying 1 digit by 2 digits (I)

EH V. W QT F Q R T P VY E E

6 J H I N Y V 6 I B I L W 6
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Calculate the answers and find the last 2 digits of your answer in the word search.
Example: 3x 43 = 129. So find number 29!

3x41-= 4x89= 9x81-=
6x73= 4x88= 6x56=
8x55= 3x11= 5x46 =

2x90= 5x77= 4x33=



Solution

T+ ++ + +++ + +E + + +
XH+THTIZRTYZETIGHT

I EI GHTYORTUEF + + +

S+ + R+ + WHW+ O + E +
Y O+ +TTTE+ + R + I +

T+ W+ Y YN+ + + T+ G +

F++TTTT+ + + Y + H +

I + FNY+HH+++ + T +

FIEN+T+ IR+ 4+ + Y +

FwIlI++ + R+ RE+ + F +

TN+ + +++ I+ TE+ I+

EX I SYTRTIHTY+ V +

++ 4+ ++++++ T+ +E +
+ + + o+






